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B.Com. /B.Com (CS) DEGREE EXAMINATION, APRIL 2017
II YEAR — IV SEMESTER
Paper IX — CORPORATE ACCOUNTING — II
Time : 3 hours	           Max. Marks : 75
SECTION A — (10 × 2 = 20 marks)
Answer any TEN questions.
1. Define human resource accounting.
2. How will you calculate conversion factor under current purchasing power accounting?
3. From the following information, calculate the cost of sales adjustment under CCA method.
	Particulars
	Historical Cost
	Index for Goods

	Opening stock
  Add: Purchases

  Less: Closing stock
Cost of Sales
	4,00,000
14,40,000
18,40,000
  6,72,000
11,68,000
	200
240

280


4. Calculate the net claim to be shown in Revenue account from the following information for the year ending 31st March 2010
Claims paid in the year ended 31-3-2010						`9,00,000
Claims intimated but not accepted and paid on 31-3-2010			`   50,000
Claims intimated and accepted but not paid on 31-3-2010			`   70,000
Reinsurance recoveries										`   12,000
5. Pass journal entries for the following
a. Premium payable under reinsurance					`1,000
b. Bonus utilized in reduction of premium				`7,900
6. Calculate the amount of rebate on bills discounted as on 31st March 2014 from the following 
	Date of bill
	Amount of bill
	Term of bill in months
	Discount %

	January 9
	`10,000
	4
	10

	March 10
	`9,000
	2
	11


7. Calculate the amount to be shown under schedule 13 form the information given below
Interest on cash credits					`1,00,000
Discount on bills discounted (Gross)		`6,78,988
Rebate on bills discounted					`   68,988
Interest on loans and advances				`4,87,654
8. What is meant by amalgamation?
9. White ltd. purchased Black ltd. in the following ways
White ltd. issued 2 equity shares of `100 each for every shares in Black ltd. Black ltd. had 21,000 equity shares of `100 each.
A cash payment of `500 is made for every two shares in Black ltd.
Calculate purchase consideration.
10. Write the meaning of liquidation of a company.
11. Sanjeev ltd. went into liquidation as on 31st March 2010. The assets were realized at `7,50,000. The secured creditors amounted to `4,50,000 and the unsecured creditors amounted to `4,30,000. Calculate the liquidator’s remuneration at 2% on the amount paid to unsecured creditors.
12. An extract of balance sheet of Ganesh ltd. is given below
Bills payable			`2,00,000	Income Tax due		`8,000
Salary outstanding	`1,25,000	Weekly wages		`2,000
 (
[P.T.O.]
)Liability under Workmen Compensation Act 1925		`3,000
Calculate the total preferential creditors as per List C.
SECTION B — (5 × 5 = 25 marks)
Answer any FIVE questions.
13. The current cost balance sheet of a company contained the following figures:
Current assets: 												`
Bank and cash (not included in monetary working capital)	4,50,000
Current Liabilities: 
Creditors												1,70,000			
Taxation												2,10,000
Proposed dividends										2,50,000			
Bank Overdraft(not included in monetary working capital)	1,90,000
Net Assets employed									     35,40,000			
Shareholders’ funds									     26,80,000	
Debentures												5,40,000			
Deferred taxation											3,20,000
Calculate the current cost gearing proportion.
14. A life insurance company gets its valuation made once in every two years. Its Life Assurance Fund on 31st March 2010 amounted to `41,40,000 before providing `30,000 for the shareholders dividend for the year 2009-10. Its actuarial valuation due on 31st March 2010 disclosed a net liability of `40,40,000 under assurance annuity contracts. An interim bonus of `60,000 was paid to the policyholders during the year ending 31st March 2010. Prepare a statement showing the amount now available as bonus to policyholders.
15. From the following information, compute the amount of provision to be made in the Profit and Loss account of a commercial bank:
Standard Assets		`60,00,000	Sub-standard Assets		`44,00,000
Doubtful Assets				
	Upto 1 year			`18,00,000	Between 1 – 3 years		`20,00,000
	More than 3 years	`  6,00,000
Loss Assets			`16,00,000
16. A ltd. acquired the undertaking of B ltd. on 31st March 2010 for a purchase consideration of `2,50,00,000 to be paid by fully paid equity shares of `10 each. Balance Sheets of the two companies on the date of acquisition were as follows
	Liabilities
	A ltd.
	B ltd.
	Assets
	A ltd.
	B ltd.

	Equity shares of `10   
   each fully paid
General Reserve
Profit & loss a/c
Current liabilities

	
2,50,00,000
1,20,00,000
35,00,000
45,00,000

4,50,00,000

	
1,50,00,000
18,00,000
1,14,00,000
95,00,000

3,77,00,000
	Fixed Assets
Current Assets:
  Stock
  Debtors
  Bank 
	3,30,00,000

55,00,000
45,00,000
20,00,000

4,50,00,000

	2,80,00,000

40,00,000
40,00,000
17,00,000

3,77,00,000



Pass journal entries in the books of A ltd. if B ltd. is absorbed on the basis of merger.
17. Explain the net payments method to calculate the amount of purchase consideration.
18. LT ltd went into liquidation with the following liabilities:
Secured creditors			`40,00,000	Unsecured Creditors		`30,00,000
Preferential creditors		`  1,50,000	Liquidation expenses		`     50,000
The liquidator is entitled to receive remuneration @ 2% on the assets realized and 3% on the amount distributed among the unsecured creditors. The assets realized amounted to `70,00,000. Calculate the liquidator’s remuneration.
19. Explain the consequences of winding up of a company.
SECTION C — (2 × 15 = 30 marks)
Answer any TWO questions
20. The Young India Life Assurance limited had a paid up capital of `2,50,000 divided into 25,000 shares of `10 each. From the following figures extracted from its books prepare Revenue Account for the year ended 31st March 2011.
`									     	`
Life Assurance Fund		24,50,000	Annuities paid					10,000
Premium received (net)		13,80,000	Commission						54,000
Interest, dividends and rent	  7,50,000	Surrenders						85,000
Fines and fees			     		4,000	Reassurances irrecoverable		  1,000
Claims less reinsurance claims 8,90,000	Surplus on revaluation of reversions 4,000
Income tax					  1,18,000	Management expenses	            1,75,000
Consideration for annuities 
  granted				            45,000
21. From the following information, prepare profit and loss account of Vasari Bank ltd. for the year ended 31st March 2014.
					`										`
Interest on loans				3,00,000		Interest on savings bank account	87,000
Interest on fixed deposits		2,75,000		Postage, telegram and stamps		10,000
Commission			 		   10,000		Printing and stationery			20,000
Exchange and brokerage		   20,000		Sundry expenses					10,000
Salaries and allowances		1,50,000		Rent							15,000
Discount on bills				1,52,000		Taxes and licences				10,000
Interest on cash credits		2,40,000		Audit fees						10,000
Interest on overdrafts			   30,000
22.  A ltd. and B ltd. have agreed to amalgamate. A new company AB ltd. has been formed to take over the assets and liabilities of both the companies. The balance sheets of the companies as on 31st March 2010 were as follows
	Liabilities
	A ltd.
	B ltd.
	Assets
	A ltd.
	B ltd.

	Share capital   
  (Shares of `10   
  each)
Reserve Fund
P & L a/c
Creditors

	

10,00,000
        --
50,000
80,000

11,30,000
	

5,00,000
50,000
50,000
50,000

6,50,000
	Buildings
Machinery
Goodwill
Stock
Debtors
Cash at bank
Patents 

	5,00,000
2,00,000
        --
1,50,000
1,20,000
50,000
1,10,000
11,30,000
	3,00,000
2,50,000
50,000
20,000
20,000
10,000
      --
6,50,000


Show the amount of purchase consideration and prepare the amalgamated balance sheet of the new company if amalgamation is in the nature of merger.
23. A private limited company went into liquidation. The assets realized by the liquidator amounted to `2,68,000. The liabilities include the following
Unsecured creditors				`2,24,000
Preferential creditors				`   70,000
Debentures						`   75,000
The liquidation expenses amounted to `2,000. A call of `2 per share is made on the partly paid 10,000 equity shares was made and duly paid except in case of one shareholder owing 500 shares. The liquidator is entitled for a remuneration @ 2% on the amount realized and 2% on the amount distributed to unsecured creditors other than preferential creditors. Prepare liquidator’s final statement of account.
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